
SoSe2020 Lösungswerte zur Prüfung GE1 für ISE Seite 1 von 1

1. Aufgabe
(a) ϕA = 14 V

ϕB = 2,6 V
ϕC = 2,6 V
ϕD = 10 V

(b) IR2 = 95 mA
IR3 = 200 mA

(c) Pq1 = 4,13 W, Erzeuger
Pq2 = 0,7 W, Verbraucher

(d) Nein (Begründung!)
(e) R4 = 5,53 Ω

2. Aufgabe
(a) UL = 5,25 V

IKE = 30 mA
UNL = 3,5 V

(b) I ′q = 945 mA

(c) Rp = 233,3 Ω

(d) Rp = 533,3 Ω

(e) Ri = 211,1 Ω

(f) Q = 80µC

3. Aufgabe
(b) φ = 320µWb

V1 = 120 A (jeweils)
V2 = 60 A (jeweils)
µr2,AP = 1061

(c) I2 = +0,6 A

(d) Ja, er sinkt (Begründung!)


